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The exam consists of two parts.  Part I contains 35 multiple choice questions.  Circle the letter of the correct answer.  Each is worth 2 points for a total of 70.  Part II contains short answers.  Answer all questions in this section.  Part II is worth 30 points.

You have the entire class period to complete the exam.  Do not begin until you are told to do so.

Part I. Multiple Choice.  2 points each (70 points total).  Circle the correct answer.

1) Because resources are scarce, the opportunity cost of investment in capital is: 

 A) zero. 

 B) forgone investment. 

 C) forgone present consumption. 

 D) infinite.

2) Which of the following is studied in macroeconomics but not microeconomics?

 A) Inflation.

 B) How does the price of milk change if sales taxes increase?

 C) How many widgets a specific firm will produce?
 D) How many widgets a household will buy?
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3) Refer to Figure 1. The economy is currently at Point A. The opportunity    

   cost of moving from Point A to Point B is the: 

A) 90 LCD televisions that must be forgone to produce 20 additional plasma televisions. 

B) 30 LCD televisions that must be forgone to produce 60 additional plasma televisions. 

C) 120 LCD televisions that must be forgone to produce 40 additional plasma televisions. 

D) 30 LCD televisions that must be forgone to produce 20 additional plasma televisions.

4) In markets for factors of production: 

 A) consumers purchase products.  
 B) firms supply factors of production. 

 C) households supply factors of production. 

 D) households demand factors of production.

5) For a particular product, an effective price floor results in: 

 A) quantity demanded greater than quantity supplied. 

 B) quantity supplied greater than quantity demanded. 

 C) quantity demanded equal to quantity supplied. 

 D) demand equal to supply.
6) In a capitalist market economy:
 A) private households own all factors of production.

 B) the government planning ministry determines what to produce, how to
    produce it, and who gets production.

 C) large firms control the economy.

 D) the government owns all of the land.

7) The Federal government spends the most on which of the​ following? 
 A )Transfers to low-income people ("welfare").

 B) Foreign aid.

 C) Transfers to the​ elderly(Social Security,​ Medicare, etc.).

 D) Defense.

8) The increase in unemployment that occurs during recessions and depressions is called ________unemployment.

  A) cyclical

  B) frictional

  C) natural

  D) structural

9) Which of the following is a cost of inflation? 

 A) Prices rise faster than income, leading to falling spending.

 B) Price lists (menus) have to be changed more often if inflation is high, 

    increasing menu costs to businesses.

 C) Discouraged workers.

 D) Purchasing power parity.

10) According to the concept of permanent​ income, most of a temporary decrease in income taxes will​ be:

A. saved.

B. spent.

C. used by congress as an excuse to increase spending.

D. too large.

11) A problem with a Federal government budget deficit​ is:

A. government borrowing to finance the deficit will​ "crowd out" private investment.

B. it will cause more capital to be produced.

C. it will require the government to raise taxes now.

D. government spending is too high.

12) The economy is experiencing widespread unemployment. A Keynesian macroeconomist might suggest that the​ government:

A. decrease investment spending.

B. increase taxes.

C. increase the government budget deficit.

D. decrease government spending.

13) Commercial banks can​ "create" money​ by:

A. buying bonds.

B. lending money taken in as checking and savings deposits.

C. using ancient spells known only to the Federal Reserve Open Market Operations coven.

D. making profits for investors.
14) Which of the following can explain an increase in the interest​ rate?

  I. The money supply decreases.

  II. The money supply increases.

  III. The money demand decreases.

  IV. The money demand increases.                                          

A. I and III only.

B. I and IV only.

C. IV only.

D. I only.

15) Which of the following is a method for the Federal Reserve to control the supply of​ money?

A. Setting the discount​ rate, the interest rate at which banks can borrow from the Federal Reserve.

B. Setting the required reserve ratio.

C. Buying or selling U.S. government bonds.

D. All of the above.

E. None of the above.

16) The economy is beginning to slip into recession.  Further, the data indicate that inflation is low.  The Fed will most likely respond to this state of the economy by

A. purchasing government bonds to raise the interest rate.

B. selling government bonds to lower the interest rate.

C. selling government bonds to raise the interest rate.

D. purchasing government bonds to lower the interest rate.

17) Suppose the Treasury of the United States issues bonds and sells them to the public to finance the government debt.  What happens to the money supply?

A. The money supply decreases because government borrowing reduces free reserves in the banking system.

B. The money supply increases because government borrowing increases reserves in the banking system.

C. The money supply decreases because there is less private savings.

D. The money supply remains unchanged because every dollar taken in by the Treasure goes right back into circulation through government spending.

18) Diminishing returns to labor implies that with capital fixed, 

A. as labor increases output always increases.

B. as output increases, labor increases.

C. as labor increases, output decreases.

D. as labor increases, labor productivity eventually decreases.

19) Which of the following would shift the Aggregate Demand curve to the right?

A. A decrease in the price level.

B. An increase in the government budget deficit.

C. A decrease in the money supply.

D.A decrease in wages.

20) Which of the following would shift the Aggregate Supply curve to the right?

A. A decrease in the price level.

B. An increase in the government budget deficit.

C. A decrease in the money supply.

D. A decrease in costs of production.

21) If all unemployment is either frictional or structural,

A. expansionary Keynesian (Aggregate Demand) policies will work well.

B. expansionary Keynesian (Aggregate Demand) policies will not work well.

C. the unemployment rate will be zero because we are at “full-employment.”
D. none of the above. 

22) According to the Philips Curve,

A. high inflation rates are associated with high unemployment rates.

B. high inflation rates are associated with low unemployment rates.

C. high inflation rates may be associated with either high or low unemployment rates.

D. a decrease in the tax rate can lead to higher tax revenues.

23) According to the Laffer​ Curve, 

A. high unemployment rates are associated with high inflation rates.

B. high unemployment rates are associated with low inflation rates.

C. it is possible that reducing income tax rates will increase total income tax revenues.

D. both B and C

24) A rise in the price of​ oil, which will increase the costs of production throughout the​ economy,
A. will result in the Aggregate Supply curve to shift to the right.

B. will result in the Aggregate Demand curve to shift to the right.

C. will result in the Aggregate Supply curve to shift to the left.

D. will result in the Aggregate Demand curve to shift to the left.

​
25) Cost-push inflation:

A. is caused by an increase in the money supply.

B. is caused by an increase in total spending.

C. is caused by a decrease in Aggregate Supply.

D. will result in stagflation.

26) Which of the following would be most favored by a​ "supply side"​ economist?

A. Reduce the Federal government budget deficits through a combination of spending cuts and tax increases.

B. Limit the pay of corrupt Wall Street executives.

C. Reduce regulations on businesses.

D. A tax rebate to every taxpayer.

27) Assume the classical view of the labor market. During a​ recession,

A. labor demand will​ increase, the real wage will​ increase, and cyclical unemployment will increase.

B. labor demand will​ increase, the real wage will​ fall, and there will be no cyclical unemployment.

C. labor demand will​ decrease, the real wage will​ fall, and there will be no cyclical unemployment.

D. labor demand will​ decrease, the real wage will​ fall, and unemployment will increase.

28) According to the classical view of the labor​ market, if there is an excess supply of​ labor, 

A. some workers will work for a lower wage and others will exit the labor market.

B. wages will rise because they are not “sticky” in an upward direction.
C. labor supply will decrease until the market clears.

D. the demand for labor will decrease until the market clears and there is no unemployment.

29) Economists who hold the classical view of the labor market believe that

A. the aggregate supply curve is upward sloping in a recession.

B. only fiscal policy can have any effect on employment and real GDP in a recession.
C. only monetary policy can have any effect on employment and real GDP in a recession.
D. fiscal and monetary policy have little or no effect on employment and real GDP in a recession.
30) ​Social, or​ implicit, contracts can result in sticky wages because

A. these contracts would maintain wages when business cycles occur.

B. wages would increase during expansions.

C. wages would contract during recessions.

D. wages can be renegotiated.

31) Which of the following statements would be associated with Keynesian​ economics?

A. Economic problems can best be addressed by reducing taxation and regulation and thus increasing incentives to save and invest.

B. Because there are significant lags in recognizing and implementing activist​ policies, the best government policy is nonintervention.

C. Because wages and prices are sticky and it can take a long time for the economy to return to full​-employment, the government should intervene in the macroeconomy.                                                                

D. Since expectations are​ rational, anticipated policy changes will have no effect on real​ output, and only​ "surprises" matter.

32) In the early​ 1980s, the U.S. economy was experiencing a severe recession. The Economic Recovery Act of 1981 sharply cut both personal and corporate income tax rates. President Reagan argued that these were​ supply-side tax cuts. ​ Therefore, he believed that the primary effect of these tax cuts would be to

A. increase Aggregate Demand.
B. increase incentives to work and lower costs to firms.

C. increase consumption spending due to lower taxes.

D. increase the size of the government budget deficit.

33) If people have rational​ expectations, 

A. Aggregate Demand policy changes will have a significant effect on output.

B. Aggregate Supply will​ increase, creating economic growth.

C. on​ average, people correctly predict the future and all markets will​ clear, and there will be full employment.

D. unemployment can last for a significant period of time.

34) According to David Ricardo and most economists
A. free trade hurts workers and consumers.

B. free trade results in an increase in aggregate production, an increase in aggregate consumption and lower prices.

C. tariffs are a good way to stimulate the economy.

D. free trade results in inefficient production and an increase in prices.

35) Which of the following is most likely to lead to an increase in the price of automobiles?

A. A decrease in tariffs on imported automobiles.

B. A technological advance in the manufacture of automobiles.

C. An increase in tariffs on imported automobiles.
D. Lower sales taxes on automobiles.

Part II. Answer all questions.  30 points in total.

1. A. (5 points). For each example below draw a graph showing an initial equilibrium in the market given.  On the same graph show a shift in either the supply or demand curve that would cause equilibrium price (Pe) and quantity (Qe) to change as indicated.  
     i. Market – ice cream
     

Pe↑      Qe↓   

     ii. Market – ice cream

 
Pe↑      Qe↑
B. (5 points.) Using the aggregate production function, explain how an increase in education will increase long run economic growth.

2. (10 points). 
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Assume there are no taxes.  Investment and Government Spending are exogenous.

A. Based on the information in the above table, what is the marginal propensity to consume (MPC)?

B. What is the equilibrium level of national income (or equilibrium planned expenditures)?  Explain. You may use the table above or equations.

C. Explain how an increase in the money supply would affect interest rates. Use a graph in your answer.

3. (10 points).
Suppose that France and England have the following production relationships for one worker.  Each country has 1000 workers.  Assume that opportunity costs are constant.

Wine 

Bread

England

  2
 or
 3

France

  2
 or
 1

A.
Which country has the comparative advantage in wine production?  Explain.

B.
Assume that France and England trade at a price of 1 Bread to 1 Wine.  Using the PPF for France, show how France can be made better off with trade.

C. Draw the Aggregate Supply Curve for the long run.  Explain the assumptions needed in order to draw the long run Aggregate Supply Curve

